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General Logistics




Problem Set 1 Logistics



https://princeton.instructure.com/courses/960/discussion_topics/9997




Split code into different lines
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Split code into different lines (comments)
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Split code into different lines (commands)
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Tips for error messages







Difference-in-means
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Precept Questions



https://www.sscnet.ucla.edu/polisci/faculty/ross/papers/articles/Oil%20Islam%20and%20Women%20-%20apsr%20final.pdf
https://themonkeycage.org/2009/12/oil_islam_and_women_revisited/
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Question 2
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Question 3a
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Question 3b




